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CBF/S-3T | 30kN (3.06tf)

CBF/S-5T | 50kN (511 5 98 30 33 38 84 M6P-1 7 100 | 16.5 56 23
CBF/S-10T |100kN (10.2tf) 8 98 40 35 43 84 M6P-1 7 150 | 16.5 56 23
CBF/S-20T |200kN (20.4tf) | 10 138 50 43 53 110 M8P-1.25 8 200 | 21 77 24
CBF/S-30T |300kN (30.6tf) | 12 160 60 53 65 130 M10P-1.5 10 250 | 30 89 25
CBF/S-50T |500kN (51.0tf) | 15 200 80 60 75 160 M12P-1.75 12 250 | 30 111 27
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m & 30L 50L 100L 200L 3T 5T 10T
EARTEE 300N (30.6kgf) | 500N (51kgf) | 1kN(102kgf) | 2kN (204kgf) | 30kN (3.06tf) 50kN (5.1tf) | 100kN (10.2tf)
EIEN 300L 500L 1T 2T 20T 30T 50T
EREE 3kN (306kgf) | 5kN (510kgf) | 10kN (1.02tf) | 20kN (2.04tf) | 200kN (20.4tf) | 300kN (30.6tf) | 500kN (51tf)
EREA 2mV/V+0.5%

FEERR +0.2%R.0. +0.35%R.0.

EXFUI R +0.2%R.0. +0.35%R.0.

R +0.1%R.0. +0.20%R.0.

FINFLR +0.2%R.0.

REmMEHE —10C~-+60TC

FRREHE —20C~—+70C

HAONDBREHE +0.1%R.L./10C

ERDREZE +0.05%R.0./10C

AR EE 4201+40Q

H i F R 350+5Q

HEIFIRIT 1000MQ (B/E DC50V) Kl E

HEREDINEE AC,DC 10V

FREMEE AC,DC 18V

FEEaT 150%R.L. |
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o} EMMEE R.L. | 1kN~200kN (102kgf~20.4tf)
EAEH A ¥1mv/v
FEERME +1%R.0.
EZFUT R +1%R.0.
R +1%R.0.
BNTZ +10%R.0.
i i {E aE —10C~—+60TC
HADRESE +0.2%R.L/10C
625~ 315 BANEEYE +0.1%R.0./10C
NS ¢ 14~ $280 ATimFEE #9350Q~#9700Q
! H i F R #13500~#9700Q
b - ERIER 1000MQ (B/E DC50V) Bl E
ol HERENINEE AC,DC 10V
[ FEREMEE AC,DC 15V
B Y = 2T 120%R.L.~150%R.L.
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